

Existence and Uniqueness of Periodic Solutions for a Kind of Rayleigh Type p -Laplacian Equation

Zuda Huang and Qiyuan Zhou

*Department of Mathematics, Hunan University of Arts and Science
Changde, Hunan 415000, P.R.China*

Received January 18, 2010

Abstract. By using topological degree theory and some analysis skill, we obtain some sufficient conditions for the existence and uniqueness of periodic solutions for Rayleigh type p -Laplacian differential equation.

2000 Mathematics Subject Classification: 34K15, 34C25.

Key words: p -Laplacian, periodic solutions, Rayleigh equation, existence and uniqueness, topological degree.

1. Introduction

In recent years, periodic solutions to Rayleigh type p -Laplacian differential equation have been extensively studied in the literature (see, for example, [1, 2, 6, 7, 5]). However, to the best of our knowledge, most authors have only considered the existence of periodic solutions, and few results exist concerning both existence and uniqueness of periodic solutions to this equation.

In this paper we deal with the existence and uniqueness of T -periodic solutions of the Rayleigh type p -Laplacian differential equation of the form:

$$(\varphi_p(x'(t)))' + f(t, x'(t)) + g(t, x(t)) = e(t), \quad (1)$$

where $p > 1$ and $\varphi_p : \mathbb{R} \rightarrow \mathbb{R}$ is given by $\varphi_p(s) = |s|^{p-2}s$ for $s \neq 0$ and $\varphi_p(0) = 0$, f and g are continuous functions defined on \mathbb{R}^2 , e is a continuous

periodic function defined on \mathbb{R} with period T , f and g are T -periodic in the first argument, $f(\cdot, 0) = 0$ and $T > 0$.

By using topological degree theory and some analysis skill, we establish some sufficient conditions for the existence and uniqueness of T -periodic solutions of equation (1). Our results are different from those of bibliographies listed above. In particular, an example is also given to illustrate the effectiveness of our results.

2. Preliminary Results

For convenience, let us denote

$$C_T^1 := \{x \in C^1(\mathbb{R}, \mathbb{R}) : x \text{ is } T\text{-periodic}\},$$

which is a Banach space endowed with the norm $\|\cdot\|$ defined by $\|x\| = |x|_\infty + |x'|_\infty$, for all x , and

$$|x|_\infty = \max_{t \in [0, T]} |x(t)|, \quad |x'|_\infty = \max_{t \in [0, T]} |x'(t)|, \quad |x|_k = \left(\int_0^T |x(t)|^k dt \right)^{1/k}.$$

For the periodic boundary value problem

$$(\varphi_p(x'(t)))' = \tilde{f}(t, x, x'), \quad x(0) = x(T), \quad x'(0) = x'(T) \quad (2)$$

where \tilde{f} is a continuous function and T -periodic in the first variable, we have the following result.

Lemma 2.1. [4] *Let Ω be an open bounded set in C_T^1 , if the following conditions hold:*

(i) *For each $\lambda \in (0, 1)$ the problem*

$$(\varphi_p(x'(t)))' = \lambda \tilde{f}(t, x, x'), \quad x(0) = x(T), \quad x'(0) = x'(T)$$

has no solution on $\partial\Omega$.

(ii) *The equation*

$$F(a) := \frac{1}{T} \int_0^T \tilde{f}(t, a, 0) dt = 0,$$

has no solution on $\partial\Omega \cap \mathbb{R}$.

(iii) *The Brouwer degree of F*

$$\deg(F, \Omega \cap \mathbb{R}, 0) \neq 0.$$

Then the periodic boundary value problem (2) has at least one T -periodic solution on $\overline{\Omega}$.

Set

$$y(t) = \varphi_p(x'(t)). \tag{3}$$

We can rewrite equation (1) in the following form

$$\begin{cases} x'(t) = |y(t)|^{q-1} \operatorname{sgn}(y(t)), \\ y'(t) = -f(t, |y(t)|^{q-1} \operatorname{sgn}(y(t))) - g(t, x(t)) + e(t), \end{cases} \tag{4}$$

where $q > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$.

Lemma 2.2. *Suppose that the following condition holds.*

(A₁) $(x_1 - x_2)(g(t, x_1) - g(t, x_2)) < 0$ for all $t, x_1, x_2 \in \mathbb{R}, x_1 \neq x_2$.
 Then equation (1) has at most one T -periodic solution.

Proof. Suppose that $x_1(t)$ and $x_2(t)$ are two T -periodic solutions of equation (1). Then, from (4), we obtain

$$\begin{cases} x'_i(t) = |y_i(t)|^{q-1} \operatorname{sgn}(y_i(t)), \\ y'_i(t) = -f(t, |y_i(t)|^{q-1} \operatorname{sgn}(y_i(t))) - g(t, x_i(t)) + e(t), \end{cases} \quad i = 1, 2. \tag{5}$$

Set

$$u(t) = x_1(t) - x_2(t), \quad v(t) = y_1(t) - y_2(t), \tag{6}$$

it follows from equation (5) that

$$\begin{cases} u'(t) = |y_1(t)|^{q-1} \operatorname{sgn}(y_1(t)) - |y_2(t)|^{q-1} \operatorname{sgn}(y_2(t)), \\ v'(t) = -[f(t, |y_1(t)|^{q-1} \operatorname{sgn}(y_1(t))) - f(t, |y_2(t)|^{q-1} \operatorname{sgn}(y_2(t)))] \\ \quad - [g(t, x_1(t)) - g(t, x_2(t))]. \end{cases} \tag{7}$$

Now, we prove that

$$u(t) \leq 0 \quad \text{for all } t \in \mathbb{R}.$$

Contrarily, in view of $u \in C^1[0, T]$ and $u(t+T) = u(t)$ for all $t \in \mathbb{R}$, we obtain

$$\max_{t \in \mathbb{R}} u(t) > 0.$$

Then, there must exist $t^* \in \mathbb{R}$ (for convenience, we can choose $t^* \in (0, T)$) such that

$$u(t^*) = \max_{t \in [0, T]} u(t) = \max_{t \in \mathbb{R}} u(t) > 0,$$

which implies that

$$\begin{aligned} u'(t^*) &= |y_1(t^*)|^{q-1} \operatorname{sgn}(y_1(t^*)) - |y_2(t^*)|^{q-1} \operatorname{sgn}(y_2(t^*)) = 0, \\ v(t^*) &= y_1(t^*) - y_2(t^*) = 0, \end{aligned} \tag{8}$$

and

$$x_1(t^*) - x_2(t^*) > 0. \tag{9}$$

In view of (7), we have

$$\begin{aligned}
v'(t^*) &= -[f(t^*, |y_1(t^*)|^{q-1} \operatorname{sgn}(y_1(t^*))) - f(t^*, |y_2(t^*)|^{q-1} \operatorname{sgn}(y_2(t^*)))] \\
&\quad - [g(t^*, x_1(t^*)) - g(t^*, x_2(t^*))] \\
&= -[g(t^*, x_1(t^*)) - g(t^*, x_2(t^*))] > 0,
\end{aligned} \tag{10}$$

and there exists $\varepsilon^* > 0$ such that $v'(t) > 0$ for all $t \in (t^* - \varepsilon^*, t^*]$. Therefore, $v(t) = y_1(t) - y_2(t)$ is strictly increasing for $t \in (t^* - \varepsilon^*, t^*]$, which implies that

$$v(t) = y_1(t) - y_2(t) < v(t^*) = 0 \text{ for all } t \in (t^* - \varepsilon^*, t^*),$$

and

$$u'(t) = |y_1(t)|^{q-1} \operatorname{sgn}(y_1(t)) - |y_2(t)|^{q-1} \operatorname{sgn}(y_2(t)) < 0 \text{ for all } t \in (t^* - \varepsilon^*, t^*).$$

This contradicts the definition of t^* . Thus,

$$u(t) = x_1(t) - x_2(t) \leq 0 \quad \text{for all } t \in \mathbb{R}.$$

By using a similar argument, we can also show that

$$x_2(t) - x_1(t) \leq 0 \quad \text{for all } t \in \mathbb{R}.$$

Therefore, we obtain

$$x_2(t) \equiv x_1(t) \quad \text{for all } t \in \mathbb{R}.$$

Hence, equation (1) has at most one T -periodic solution. The proof is now complete. \blacksquare

3. Main Results

By using Lemmas 2.1, 2.2, we obtain our main results:

Theorem 3.1. *Let (A₁) hold. Moreover, assume that the following conditions are satisfied.*

(A₂) *There exists a positive constant d such that $x(g(t, x) - e(t)) < 0$ for $|x| > d, t, x \in \mathbb{R}$*

(A₃) *There exist nonnegative constants m_1 and m_2 such that*

$$m_1 < \frac{2}{T}, \quad |f(t, x)| \leq m_1|x|^{p-1} + m_2, \quad \text{for all } t, x \in \mathbb{R}.$$

Then equation (1) has a unique T -periodic solution.

Proof. Consider the homotopic equation of equation (1) as follows

$$(\varphi_p(x'(t)))' + \lambda f(t, x'(t)) + \lambda g(t, x(t)) = \lambda e(t), \quad \lambda \in (0, 1). \tag{11}$$

By Lemma 2.2, together with (A_1) , it is easy to see that equation (1) has at most one T -periodic solution. Thus, to prove Theorem 3.1, it suffices to show that equation (1) has at least one T -periodic solution. To do this, we shall apply Lemma 2.1. Firstly, we will claim that the set of all possible T -periodic solutions of equation (11) is bounded.

Let $x(t) \in C_T^1$ be an arbitrary solution of equation (11) with period T . As $x(0) = x(T)$, there exists $t_0 \in [0, T]$ such that $x'(t_0) = 0$, while $\varphi_p(0) = 0$ we see that

$$|\varphi_p(x'(t))| = \left| \int_{t_0}^t (\varphi_p(x'(s)))' ds \right| \leq \lambda \int_0^T |f(t, x'(t))| dt + \lambda \int_0^T |g(t, x(t))| dt + \lambda \int_0^T |e(t)| dt, \tag{12}$$

where $t \in [t_0, t_0 + T]$.

Let \bar{t} and \underline{t} be, respectively, the global maximum point and global minimum point of $x(t)$ on $[0, T]$, then $x'(\bar{t}) = 0$ and we claim that

$$(\varphi_p(x'(\bar{t})))' = (|x'(\bar{t})|^{p-2}x'(\bar{t}))' \leq 0. \tag{13}$$

Assume, by way of contradiction, that (13) does not hold. Then

$$(\varphi_p(x'(\bar{t})))' = (|x'(\bar{t})|^{p-2}x'(\bar{t}))' > 0,$$

and there exists $\varepsilon > 0$ such that $(\varphi_p(x'(t)))' = (|x'(t)|^{p-2}x'(t))' > 0$ for $t \in (\bar{t} - \varepsilon, \bar{t} + \varepsilon)$. Therefore, $\varphi_p(x'(t)) = |x'(t)|^{p-2}x'(t)$ is strictly increasing for $t \in (\bar{t} - \varepsilon, \bar{t} + \varepsilon)$, which implies that $x'(t)$ is strictly increasing for $t \in (\bar{t} - \varepsilon, \bar{t} + \varepsilon)$. This contradicts the definition of \bar{t} . Thus, (13) is true. From $f(\cdot, 0) = 0$, (11) and (13), we have

$$g(\bar{t}, x(\bar{t})) - e(\bar{t}) \geq 0. \tag{14}$$

Similarly, we get

$$g(\underline{t}, x(\underline{t})) - e(\underline{t}) \leq 0. \tag{15}$$

In view of (A_2) , (14) and (15) imply that

$$x(\bar{t}) < d \quad \text{and} \quad x(\underline{t}) > 0. \tag{16}$$

Since $x(t)$ is a continuous T -periodic function on \mathbb{R} , it follows that there exists a constant $\bar{\xi} \in [0, T]$ such that

$$|x(\bar{\xi})| \leq d.$$

Then, we have

$$|x(t)| = |x(\bar{\xi}) + \int_{\bar{\xi}}^t x'(s)ds| \leq d + \int_{\bar{\xi}}^t |x'(s)|ds, \quad t \in [\bar{\xi}, \bar{\xi} + T],$$

and

$$|x(t)| = |x(t - T)| = |x(\bar{\xi}) - \int_{t-T}^{\bar{\xi}} x'(s)ds| \leq d + \int_{t-T}^{\bar{\xi}} |x'(s)|ds, \quad t \in [\bar{\xi}, \bar{\xi} + T].$$

Combining the above two inequalities, we obtain

$$\begin{aligned} |x|_{\infty} &= \max_{t \in [0, T]} |x(t)| = \max_{t \in [\bar{\xi}, \bar{\xi} + T]} |x(t)| \\ &\leq \max_{t \in [\bar{\xi}, \bar{\xi} + T]} \left\{ d + \frac{1}{2} \left(\int_{\bar{\xi}}^t |x'(s)|ds + \int_{t-T}^{\bar{\xi}} |x'(s)|ds \right) \right\} \\ &\leq d + \frac{1}{2} \int_0^T |x'(s)|ds. \end{aligned} \tag{17}$$

Denote

$$E_1 = \{t : t \in [0, T], |x(t)| > d\}, \quad E_2 = \{t : t \in [0, T], |x(t)| \leq d\}.$$

Since $x(t)$ is T -periodic, multiplying $x(t)$ and (12) and then integrating it from 0 to T , in view of (A₂) and (A₃), we get

$$\begin{aligned} \int_0^T |x'(t)|^p dt &= - \int_0^T (\varphi_p(x'(t)))' x(t) dt \\ &= \lambda \int_0^T f(t, x'(t)) x(t) dt + \lambda \int_0^T g(t, x(t)) x(t) dt - \lambda \int_0^T e(t) x(t) dt \\ &= \lambda \int_0^T f(t, x'(t)) x(t) dt + \lambda \int_{E_1} [g(t, x(t)) - e(t)] x(t) dt \\ &\quad + \lambda \int_{E_2} [g(t, x(t)) - e(t)] x(t) dt \\ &\leq |x|_{\infty} \int_0^T [m_1 |x'(t)|^{p-1} + m_2] dt \end{aligned}$$

$$\begin{aligned}
 & + \int_0^T \max\{|g(x(t)) - e(t)| : t \in \mathbb{R}, |x(t)| \leq d\} |x(t)| dt \\
 & \leq m_1 |x|_\infty \int_0^T |x'(t)|^{p-1} dt + (D + m_2) T |x|_\infty,
 \end{aligned} \tag{18}$$

where $D = \max\{|g(t, x) - e(t)| : |x| \leq d, t \in \mathbb{R}\}$.

For $x(t) \in C(\mathbb{R}, \mathbb{R})$ with $x(t + T) = x(t)$, and $0 < r \leq s$, by using Hölder inequality, we obtain

$$\begin{aligned}
 \left(\frac{1}{T} \int_0^T |x(t)|^r dt \right)^{1/r} & \leq \left(\frac{1}{T} \left(\int_0^T (|x(t)|^r)^{\frac{s}{s-r}} dt \right)^{\frac{r}{s}} \left(\int_0^T 1 dt \right)^{\frac{s-r}{s}} \right)^{1/r} \\
 & = \left(\frac{1}{T} \int_0^T |x(t)|^s dt \right)^{1/s},
 \end{aligned}$$

this implies that

$$|x|_r \leq T^{\frac{s-r}{rs}} |x|_s, \text{ for } 0 < r \leq s. \tag{19}$$

Then,

$$\int_0^T |x'(t)| dt \leq T^{\frac{p-1}{p}} |x'(t)|_p, \quad \int_0^T |x'(t)|^{p-1} dt \leq T^{\frac{1}{p}} |x'(t)|_p^{p-1}. \tag{20}$$

In view of (17), (18) and (20), we can get

$$\begin{aligned}
 |x'(t)|_p^p & = \int_0^T |x'(t)|^p dt \\
 & \leq m_1 |x|_\infty \int_0^T |x'(t)|^{p-1} dt + (D + m_2) T |x|_\infty \\
 & \leq m_1 \left(d + \frac{1}{2} T^{\frac{p-1}{p}} |x'(t)|_p \right) T^{\frac{1}{p}} |x'(t)|_p^{p-1} + (D + m_2) T \left(d + \frac{1}{2} T^{\frac{p-1}{p}} |x'(t)|_p \right) \\
 & \leq \frac{1}{2} T m_1 |x'(t)|_p^p + m_1 d T^{\frac{1}{p}} |x'(t)|_p^{p-1} \\
 & \quad + (D + m_2) T \frac{1}{2} T^{\frac{p-1}{p}} |x'(t)|_p + (D + m_2) T d.
 \end{aligned} \tag{21}$$

Since $p > 1$ and $m_1 < \frac{2}{T}$, (21) yields that we can choose a positive constant M_1 such that

$$|x'(t)|_p < M_1, \quad \int_0^T |x'(t)| dt \leq T^{\frac{p-1}{p}} |x'(t)|_p < M_1,$$

and

$$|x|_\infty \leq d + \frac{1}{2} \int_0^T |x'(s)| ds \leq M_1.$$

In view of (12) and (20), we have

$$\begin{aligned} |x'|_\infty^{p-1} &= \max_{t \in [0, T]} \{|\varphi_p(x'(t))|\} \\ &= \max_{t \in [t_0, t_0+T]} \left\{ \left| \int_{t_0}^t (\varphi_p(x'(s)))' ds \right| \right\} \\ &\leq \int_0^T |f(t, x'(t))| dt + \int_0^T |g(t, x(t))| dt + \int_0^T |e(t)| dt \\ &\leq \int_0^T [m_1 |x'(t)|^{p-1} + m_2] dt + \int_0^T |g(t, x(t))| dt + \int_0^T |e(t)| dt \\ &\leq m_1 T^{\frac{1}{p}} |x'(t)|_p^{p-1} + T[m_2 + \max\{|g(t, x)| : |x| \leq M_1, t \in \mathbb{R}\} + |e|_\infty] \\ &\leq m_1 T^{\frac{1}{p}} M_1^{p-1} + T[m_2 + \max\{|g(t, x)| : |x| \leq M_1, t \in \mathbb{R}\} + |e|_\infty]. \quad (22) \end{aligned}$$

Thus, we can get some positive constant $M_2 > M_1 + 1$ such that for all $t \in \mathbb{R}$,

$$|x'(t)| \leq M_2.$$

Set

$$\Omega = \{x \in C_T^1 : |x|_\infty \leq M_2 + 1, |x'|_\infty \leq M_2 + 1\},$$

then we know that equation (12) has no T -periodic solution on $\partial\Omega$ as $\lambda \in (0, 1)$ and when $x(t) \in \partial\Omega \cap \mathbb{R}$, $x(t) = M_2 + 1$ or $x(t) = -M_2 - 1$, from (A₂), we can see that

$$\begin{aligned} \frac{1}{T} \int_0^T [-g(t, M_2 + 1) + e(t)] dt &= -\frac{1}{T} \int_0^T [g(t, M_2 + 1) - e(t)] dt > 0, \\ \frac{1}{T} \int_0^T [-g(t, -M_2 - 1) + e(t)] dt &= -\frac{1}{T} \int_0^T [g(t, -M_2 - 1) - e(t)] dt < 0, \end{aligned}$$

so condition (ii) is also satisfied. Set

$$H(x, \mu) = \mu x - (1 - \mu) \frac{1}{T} \int_0^T [g(t, x) - e(t)] dt,$$

and when $x \in \partial\Omega \cap \mathbb{R}$, $\mu \in [0, 1]$ we have

$$xH(x, \mu) = \mu x^2 - (1 - \mu)x \frac{1}{T} \int_0^T [g(t, x) - e(t)] dt > 0.$$

Thus $H(x, \mu)$ is a homotopic transformation and

$$\begin{aligned} \deg \{F, \Omega \cap \mathbb{R}, 0\} &= \deg \left\{ -\frac{1}{T} \int_0^T \{g(t, x) - e(t)\} dt, \Omega \cap \mathbb{R}, 0 \right\} \\ &= \deg \{x, \Omega \cap \mathbb{R}, 0\} \neq 0. \end{aligned}$$

so condition (iii) is satisfied. In view of the previous Lemma 2.1, there exists at least one solution with period T . This completes the proof. ■

Remark 3.2. If $p = 2$, we can find that the main results of [8] are special ones of Theorem 3.1.

4. An Example

As an application, let us consider the following equation:

$$(\varphi_p x'(t))' + \frac{1}{100} e^{\sin(t)} \cos(x'(t))(x'(t))^3 - (x^9(t) + x(t) - 12) = \cos^2 t, \quad (23)$$

where $p = \sqrt{15}$. We can easily check the conditions (A_1) , (A_2) and (A_3) hold. By Theorem 3.1, Equation (23) has a unique 2π -periodic solution.

Remark 4.1. Since $p = \sqrt{15}$, one can easily see that all the results in [1–8] and the references therein can not be applicable to (23) to obtain the existence and uniqueness of 2π -periodic solutions. This implies that the results of this paper are essentially new.

Acknowledgements. The authors would like to thank the referees very much for the helpful comments and suggestions. This work was supported by the Key Project of Chinese Ministry of Education (Grant No. 210 151), the Scientific Research Fund of Hunan Provincial Natural Science Foundation of P. R. China (Grant No. 07JJ6001), and the Scientific Research Fund of Hunan Provincial Education Department of P. R. China (Grant No. 10C1009, No. 09B072).

References

1. X. Bing and L. Bingwen, Periodic solutions for Rayleigh type p -Laplacian equation with a deviating argument, *Nonlinear Anal. Real World Appl.* **10** (1) (2009), 16–22.
2. G. Fabao and L. Shiping, Periodic solutions for a Rayleigh type equation with a variable coefficient ahead of the nonlinear term, *Nonlinear Anal. Real World Appl.* **10** (1) (2009), 254–258.
3. R. E. Gaines and J. Mawhin, *Coincidence Degree, and Nonlinear Differential Equations*, Lecture Notes in Mathematics, vol. 568, Springer-Verlag, Berlin, New York, 1977.
4. R. Manásevich and J. Mawhin, Periodic solutions for nonlinear systems with p -Laplacian-like operators, *J. Differential Equations* **145** (1998), 367–393.
5. Z. Minggang and L. Hongzhen, Periodic solutions for Rayleigh type p -Laplacian equation with deviating arguments, *Appl. Math. Lett.* **206** (2007), 43–47.
6. L. Shiping and G. Weigao, Some new results on the existence of periodic solutions to a kind of Rayleigh equation with a deviating argument, *Nonlinear Anal. TMA* **56** (2004), 501–514.
7. L. Shiping and G. Zhanjie, On the existence of periodic solutions to p -Laplacian Rayleigh differential equation with a delay, *J. Math. Anal. Appl.* **325** (2007), 685–702.
8. L. Yaqiong and H. Lihong, New results of periodic solutions for forced Rayleigh-type equations, *J. Comput. Appl. Math.* **221** (1) (2008), 98–105.